h100-B72

RILEESLDHEE RIR

Large Diameter Boring System

>

91



RILIBIESLIIB SRR
h100-B72 Large Diameter Boring System

92

13,704 Taper Shank

HERIEE Extension Spacer

188 Adapter

BB Plate

KR3LEFAHEIL /I AEE Large Diameter Body
#8#E3L7JEE Cutting Insert Holder
80°#HIE3LJJEE 80° Cutting Insert Holder

45" EZ EIFE#RE3LTJEE 45° Chamfer Cutting Insert Holder
$E1E3LZETIEE Reverse Cutting Insert Holder
KILEFEHEILTAEE Large Diameter Body
g EEBalance Holder

¥51E3L ) Cutting Insert Holder
¥51E3LRZIETIEE Reverse Cutting Insert Holder

BBORI2FERAE mgge  mEiREE
BBOR72 Body Cutting Insert Holder ~ Reverse Cutting Insert Holder
MB'GICAP-2PCS TR wk wk
El = ¥
? @ 5 0 [ MA W
T . : MA ®
) Q J - o M8 WGCAP-QP(ﬂ
MEARTZIBIR 1
Adjust the Graduation - :E
' ' ( - —§~mB
% —C— B
11— " L1 L
_ - ' i 8 B72W FEEE  ugscapapcs
% . ::j —F~Mc B72W Balance Holder
g (64 b 8 [a} T
20 s ARIESL DR 080"*@?%%73@
@ L ¢ ::;j = —§—McC Cutting Insert Holder 80° Cutting Insert Holder
E— 7 = MEZEAP4PCS
H100 o311, 701 h100-B72 1228 & i
Taper Shank Adapter i E
= E i
HE \uswocresees  YEIETRIETIEE 45° ER A T
B72 *&1@/’5@ Reverse Cutting Insert Holder 45° Chamfer Cutting Insert Holder
B72 Plate ° —\é7 M8*16CAP
g F B - g~ MA
(s —i- B
® M8*30CAP
BBIT72 fHiEAEE RS ER RHELER
BBIT72 Body Apron Apron

DING9871A
ISO50-H100-100

DBT50-H100-100

MRS - FBEZHEP19 M - FESHEP23 RIS

Specification please refer to P.19 Specification please refer to P.23

=== A2
52

FP.26
Specification please refer to P.26

h100H100-100



h100-B72

RILERESLDES

3,74 Taper Shank
HERIEIE Extension Spacer
}ﬁng Adapter

B{ESBEE Plate

it

Large Diameter Boring System

X?ILF“*H?E}UJZEE% Large Diameter Body BBOR72 [BiEAREE 4= - = .
$B#E3L7JEE Cutting Insert Holder BBOR72Body Cuﬁzé}i{ejrtﬂH%er Revt?ﬁ%m%ﬁg%def
80°#H#E3L/JEE 80° Cutting Insert Holder NB0CAP2PCS o w wk wh
45°F R {EIE4EE3L/JEE 45° Chamfer Cutting Insert Holder ?; 3 o T
#8#E3L R ETIEE Reverse Cutting Insert Holder i o — o E MA o
RILEFEHESLJIAEE Large Diameter Body 2 J : : MB6CAP-2°CS l
S {&iEEBalance Holder ) - - -
¥51E3LJJE Cutting Insert Holder e
¥51EIL R ETJEE Reverse Cutting Insert Holder N
5 —C—f—MB
$ —C— 8~ MB
e ] B72W SEBIEE  wgascarspes
ﬂ—- MC B72W Balance Holder
T B, T 80N T
—f~MC Cutting Insert Holder 80° Cutting Insert Holder
= = WBOPARCS
h100-B72 282 ; T
Adapter : g @5 o
0! B 71
— MB'60CAP-2PCS FEHES S TR 45° IEREI B TIRE
B72 ;‘g@/g@ Reverse Cutting Insert Holder 45° Chamfer Cutting Insert Holder
B72 Plate ° M MB*16CAP
. E - =~ MA
B i L —F-ws
) M8*30CAP
BBIT72 fiEAEE REELEMR RSB
BBIT72 Body Apron Apron

h100-B72 (0°)

h100-B721%#%

h100-B72X90 (90°)

Adapter for BBIT and BBOR Large Diameter Boring System

ETEIRSR " 18 P MCE 3 =
Order No. Model MC Bolt N.W.
41720000 | h100-B72 50 CAP M8x25-4PCS| 4.80
41720000x9 | h100-B72x90° 50 CAP M8x25-4PCS| 4.80

B72 #{EiBHE

Plate for BBIT and BBOR Large Diameter Boring System
Sgif?“,\ff *&o d% §DE BBOR Dor | BBIT Dit ﬁwé
70172148 |B72-148 148 40 35 2.15
70272198 |B72-198 198 65 60 3.00
70372248 |B72-248 248 90 85 3.80
70472298 |B72-298 298 115 110 4.60
70572348 |B72-348 348 140 135 5.40
70672398 |B72-398 398 165 160 6.20

ST REE B MAERISL - 4BEE10mm » TNiENle20mmiESLEE - {PIESLEE S -
Remark : Plate has four holes,distance 10mm and the boring range increase @20mm.

93



h100-B72

94

RILEIEILIBES R

Large Diameter Boring System

13, /J1A Taper Shank
JERIZZ Extension Spacer

1£82 Adapter
B{EBEE Plate

K3ILEHEIEILIIAEE Large Diameter Body
#8431 /JEE Cutting Insert Holder
}EiE3L R EJJEE Reverse Cutting Insert Holder
80°#H#E3L/JEE 80° Cutting Insert Holder

45’ F R {EIE#EE3LJJEE 45° Chamfer Cutting Insert Holder

FETESL )

Cutting Insert Holder

i/

MB'60CAP-2PCS Aﬂfﬁ}E}L i T

80°KE1EL /I

80° Cutting Insert Holder

MB*30CAP
B B
B~ MA

MB*16CAP

S TERERATIE

G;—:}— (= S Reverse Cutting Insert Holder ~ 45° Chamfer Cutting Insert Holder
g =3 - mc
i | <
H | PS o 1
o | (S}
@ L €23 o 8~ nC
ei_”,— = MB2CAP4PCS
H100 SR3I-HE3, 701 h100-B72 &8 & o 3 x; B 16CAP
Taper Shank Adapter = o | 5 E WA
@"ASI =) : g 0% B
6] 0F @ M8*30CAP
B72 SITAME BBIT72 EEAE RIEALEIR RIELER
B72 Plate BBIT72 Body Apron Apron
BBIT72 A3|{EHBIEI 48
Body for Large Diameter Adjustable Twin Cutter Roughing
SRR RO BENE MA MB w = P B
Order No. Model Mobile Bolt Bolt Wrench N.W.
70007372 |BBIT72 20 M8x16 M8x30 04086 1.44
BBIT72 $81E3LJEE
Cutting Insert Holder for BBIT Large Diameter Adjustable Twin Cutter Roughing
STERSE ]R8 W o VAR 12 Hh W F 2 B
Order No. Model Insert Bolt Wrench N.W.
30809013A |SACC90130 795 0.17
30809013B |SBCC90130 ’ 0.18
30813017A |SACC130170 226 99.5 CCMT1204..| TS5-MS 25 0.23
30813017B |SBCC130170 ) 0.24
BBIT72 {BEILRIETIEE
Reverse Cutting Insert Holder for BBIT Large Diameter Adjustable Single Cutter Roughing
ETER " 18 aw wk . Ih | &% | RS | 58
Order No. Model Insert Bolt Wrench N.W.
30809013K |RKCC90130 22 22 79.5 0.18
30813017K |RKCC130170 44 22 99.5 CCMT1204.. | TS5-MS 25 0.25
BBIT72 80°#8#E3L JJEE
80° Cutting Insert Holder for BBIT Adjustable Twin Cutter Roughing
STERSE ]R8 W o VAR L ) F F B
Order No. Model Insert Bolt Wrench N.W.
30809013M |EMSC90130 80.5 0.17
30813017M |EMSC130170 231 100.5 SCMT1204.. | TS5-M5 25 0.23
BBIT72 45°IE % {2 EBHE3L I EE
45° Chamfer Cutting Insert Holder for BBIT Adjustable Single Cutter Roughing
Hi=t ] W o VAR 1% R =F B E
Order No. Model Insert Bolt Wrench N.W.
30809013W |IWSC90130 80.5 0.16
30813017W |IWSC130170 231 100.5 SCMT1204.. | TS5-MS 25 0.22




h100-B72

RILEIEILIBES R

Large Diameter Boring System

*{ F 20.01mm

13, /J1A Taper Shank

HERIEIE Extension Spacer

1£82 Adapter

BEBEE Plate

K3LE¥EEIL I AEE Large Diameter
EiEEEBalance Holder

¥51E3LJEE Cutting Insert Holder

Body

ZR¥51E3LJEE Rhombus Cutting Insert Holder
¥51E3L R ETJEE Reverse Cutting Insert Holder
ERAEIESLR iEJJEE Rhombus Reverse Cutting Insert Holder

BBOR72 fEiEREE  HiELIE BIRARIEIE
BBOR72 Body Cutling Insert Holder ~ Reverse Cutting Insert Holder
) M8'60CAP-2PCS Ay L Wk it
HARTUEE T g - S s N
Adjust the Graduation - [ W MA
-t ] | MA ©
\ 2 J J MB16CAP-2PC L
r L1— [‘ i
E
g | IS
3 e O T
B | (S
@ = —f~mMC
5 Me2iceecs
H100 REI-BALDM  h100-B72 HEE8 & ° S —g-we
Taper Shank Adapter — =
2 o |e=———fws
— Mg 25CAP-2PCS
B72 B{TBRE  B72W FEE
B72 Plate B72W Balance Holder
BBOR72 A3|{EERE &3 88+ B7T2W &
Body and Balance Holder for Large Diameter Finishing Cutter Fine Boring System
Hi=t ] BEE MA MB wRF B
Order No. Model Mobile Bolt Bolt Wrench N.W.
70007572 |BBOR72 M8x16 1.65
70007472 |B72W 285 M8x25 0506 1.59
BBOR72 #5131 JJEE
Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
TEER | W B w . 7R B | RS | BB
Order No. Model Insert Bolt Wrench N.W.
50637011 |SRTP70110 20 66 0.10
50637115 |SRTP110150 20 106 | [PGHT103.L 1 SB-3TR-M3 ™ 0.21
BBOR72 ZfiZ151E31, /I EE
Rhombus Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
UERE | W W . 7R i wE | B E
Order No. Model Insert Bolt Wrench N.W.
50637011CC |SRCC70110 20 67 0.10
50637115CC |SRCC110150 20 107 CCGTO9TS. L) TS4-M4 15 0.20
BBOR72 1513l R &I EE
Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
UERE | R B aw Wk . 7R ® s | R | BB
Order No. Model Insert Bolt Wrench N.W.
50637011K [FKTP70110 16 15 66 0.10
50637115K |FKTP110150 25 15 106 TPGH1103.R| SB-3TR-M3 8 0.21
BBOR72 ZfiZi5E3L R IETIE
Rhombus Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
TEEE | M1 aw Wk . DR % s | 2=
Order No. Model Insert Bolt Wrench N.W.
50637011KC |[FKCC70110 16 15 67 0.10
50637115KC |[FKCC110150 28 15 107 CCGTO9TS. R TS4-M4 15 0.20

95



RILEEETIRIEILTJESRHH-AB type
Large Diameter Adjustable Twin Cutter Roughing and Semi-Finishing Boring System

YESLOAR ~ 1288 ~ BEIRRE « KILIEHEIEILDARE - $8HE3L IR
Taper Shank, Adapter, Plate, Large Diameter Body and Cutting Insert Holder

X SET
MAS403 DBT-BBIT72 K 3|,{E % 7)#8#E31,7]-AB type
MAS403 DBT and BBIT72 Large Diameter Adjustable Twin Cutter Roughing and Semi-Finishing Boring System

U RILEABIESL AR S
TSR R BfEin anDe M L Large Diameter Adjustable Twin Cutter Boring System BB
Order No. Model MmO XL B | BB | ALTEELTSE | EESLOE | NW.
Taper Shank Adapter Plate Boring Head Cutting Insert Holder
83108520AB | DBT50-BBIT72-202 AB 160-220 B72-148 16.13
83208520AB | DBT50-BBIT72-202 AB 210-270 B72-198 16.98
83308520AB | DBT50-BBIT72-202 AB 260-320 B72-248 SACC90130 17.78
83408520AB | DBT50-BBIT72-202 AB 310-370 B72-298 SBCC90130 18.58
83508520AB | DBT50-BBIT72-202 AB 360-420 B72-348 19.38
83608520AB | DBT50-BBIT72-202 AB 410-470 B72-398 20.18
83118520AB | DBT50-BBIT72-202 AB 200-260 202 | 245 | DBTS0-H100-100 B72-148 16.25
83218520AB | DBT50-BBIT72-202 AB 250-310 B72-198 17.10
83318520AB | DBT50-BBIT72-202 AB 300-360 B72-248 SACGC130170 | 17.90
83418520AB | DBT50-BBIT72-202 AB 350-410 B72-298 SBCC130170 | 18.70
83518520AB | DBT50-BBIT72-202 AB 400-460 B72-348 19.50
83618520AB | DBT50-BBIT72-202 AB 450-510 B72-398 20.30
83108525AB | DBT50-BBIT72-252 AB  160-220 B72-148 18.78
83208525AB | DBT50-BBIT72-252 AB 210-270 B72-198 19.63
83308525AB | DBT50-BBIT72-252 AB 260-320 B72-248 SACC90130 20.43
83408525AB | DBT50-BBIT72-252 AB 310-370 B72-298 SBCC90130 | 21.23
83508525AB | DBT50-BBIT72-252 AB 360-420 B72-348 22.03
83608525AB | DBT50-BBIT72-252 AB 410-470 B72-398 22.83
83118525AB | DBT50-BBIT72-252 AB 200-260 | 202 | 299 | PBTS0-H100-150 1 n00-B721 (o) g BBIT72 18.90
83218525AB | DBT50-BBIT72-252 AB 250-310 B72-198 19.75
83318525AB | DBT50-BBIT72-252 AB 300-360 B72-248 SACC130170 | 20.55
83418525AB | DBT50-BBIT72-252 AB 350-410 B72-298 SBCC130170 | 21.35
83518525AB | DBT50-BBIT72-252 AB 400-460 B72-348 22.15
83618525AB | DBT50-BBIT72-252 AB 450-510 B72-398 22.95
83108530AB | DBT50-BBIT72-302 AB 160-220 B72-148 21.73
83208530AB | DBT50-BBIT72-302 AB 210-270 B72-198 22.58
83308530AB | DBT50-BBIT72-302 AB 260-320 B72-248 SACC90130 23.38
83408530AB | DBT50-BBIT72-302 AB 310-370 B72-298 SBCC90130 24.18
83508530AB | DBT50-BBIT72-302 AB 360-420 B72-348 24.98
83608530AB | DBT50-BBIT72-302 AB 410-470 B72-398 25.78
83118530AB | DBT50-BBIT72-302 AB 200-260 302 | 345 | DBTS0-H100-200 B72-148 21.85
83218530AB | DBT50-BBIT72-302 AB 250-310 B72-198 22.70
83318530AB | DBT50-BBIT72-302 AB 300-360 B72-248 SACC130170 | 23.50
83418530AB | DBT50-BBIT72-302 AB 350-410 B72-298 SBCC130170 | 24.30
83518530AB | DBT50-BBIT72-302 AB 400-460 B72-348 25.10
83618530AB | DBT50-BBIT72-302 AB 450-510 B72-398 25.90

96



BT50AB-H100-150

=)

=
e

L1

45

Rmin
Rmin+20——

-~—Rmax=
Dmin=Rmin*2

1
T
2

=3
SACCADTE) o

o
<
£
< o]
T X &
<
@
IS
[m]

RILEARESL R RIS

Hi=t =6 H O BfEin anDe M L Large Diameter Adjustable Twin Cutter Boring System BB
Order No. Model Mot eI B8 | BEBE | ALCEELDNE|  REILE | NW.
Taper Shank Adapter Plate Boring Head Cutting Insert Holder

83108535AB | DBT50-BBIT72-352 AB 160-220 B72-148 24.68
83208535AB | DBT50-BBIT72-352 AB 210-270 B72-198 25168
83308535AB | DBT50-BBIT72-352 AB 260-320 B72-248 SACC90130 26.33
83408535AB | DBT50-BBIT72-352 AB 310-370 B72-298 SBCC90130 27.13
83508535AB | DBT50-BBIT72-352 AB 360-420 B72-348 27.93
83608535AB | DBT50-BBIT72-352 AB 410-470 B72-398 28.73
83118535AB | DBT50-BBIT72-352 AB 200-260 3562 | 395 | DBTS0-H100-250 \ h100-B72 B72-148 BBIT72 24.80
83218535AB | DBT50-BBIT72-352 AB 250-310 B72-198 25.65
83318535AB | DBT50-BBIT72-352 AB 300-360 B72-248 SACC130170 | 26.45
83418535AB | DBT50-BBIT72-352 AB 350-410 B72-298 SBCC130170 | 27.25
83518535AB | DBT50-BBIT72-352 AB 400-460 B72-348 28.05
83618535AB | DBT50-BBIT72-352 AB 450-510 B72-398 28.85

Stanny,

97



BBOR72

98

RILEWEREIRESLJE SR

Large Diameter Finishing Cutter Fine Boring System

PEILOAR ~ 1288 ~ BEIREE « KRILIEFEIESLDARE - SHEIEE - 15HE3L e
Taper Shank, Adapter, Plate, Large Diameter Body, Balance Holder
and Cutting Insert Holder

B SET

MAS403 DBT-BBOR72 X 3|,{& llaA¥& &3l 70
MAS403 DBT and BBOR72 Large Diameter Finishing Cutter Fine Boring System

RIS R IR S

HEE 55 iH R BEEngar?ge M L Large Diameter Fini§hing Cutter Fine Boring System BB
Order No. Model oDMin-gDMax B3L01m B B | BB | AL A FEIE3L I RE N.W.
Taper Shank Adapter Plate Boring Head | Cutting Insert Holder

85108520 | DBT50-BBOR72-202 M 150-227 B72-148 16.24
85208520 | DBT50-BBOR72-202 M 200-277 B72-198 17.09
85308520 | DBT50-BBOR72-202 M 250-327 B72-248 SRTP70110 17.89
85408520 | DBT50-BBOR72-202 M 300-377 B72-298 18.69
85508520 | DBT50-BBOR72-202 M 350-427 B72-348 19.49
85608520 | DBT50-BBOR72-202 M 400-477 B72-398 20.29
85118520 | DBT50-BBOR72-202 M 190-267 202 | 245 | DBTS0-H100-100 B72-148 16.35
85218520 | DBT50-BBOR72-202 M 240-317 B72-198 17.20
85318520 | DBT50-BBOR72-202 M 290-367 B72-248 SRTP110150 18.00
85418520 | DBT50-BBOR72-202 M 340-417 B72-298 18.80
85518520 | DBT50-BBOR72-202 M 390-467 B72-348 19.60
85618520 | DBT50-BBOR72-202 M 440-517 B72-398 20.40
85108525 | DBT50-BBOR72-252 M 150-227 B72-148 18.89
85208525 | DBT50-BBOR72-252 M 200-277 B72-198 19.74
85308525 | DBT50-BBOR72-252 M 250-327 B72-248 SRTP70110 20.54
85408525 | DBT50-BBOR72-252 M 300-377 B72-298 21.34
85508525 | DBT50-BBOR72-252 M 350-427 B72-348 22.14
85608525 | DBT50-BBOR72-252 M 400-477 B72-398 BBOR72 22.94
85118525 | DBT50-BBOR72-252 M 190-267 252 | 295 | DBTS0-H100-150 M00-B72] 57, 148 B72W 19.00
85218525 | DBT50-BBOR72-252 M 240-317 B72-198 19.85
85318525 | DBT50-BBOR72-252 M 290-367 B72-248 SRTP110150 20.65
85418525 | DBT50-BBOR72-252 M 340-417 B72-298 21.45
85518525 | DBT50-BBOR72-252 M 390-467 B72-348 22.25
85618525 | DBT50-BBOR72-252 M 440-517 B72-398 23.05
85108530 | DBT50-BBOR72-302 M 150-227 B72-148 21.84
85208530 | DBT50-BBOR72-302 M 200-277 B72-198 22.69
85308530 | DBT50-BBOR72-302 M 250-327 B72-248 SRTP70110 23.49
85408530 | DBT50-BBOR72-302 M 300-377 B72-298 24.29
85508530 | DBT50-BBOR72-302 M 350-427 B72-348 25.09
85608530 | DBT50-BBOR72-302 M 400-477 B72-398 25.89
85118530 | DBT50-BBOR72-302 M 190-267 302 | 345 | DBT50-H100-200 B72-148 21.95
85218530 | DBT50-BBOR72-302 M 240-317 B72-198 22.80
85318530 | DBT50-BBOR72-302 M 290-367 B72-248 SRTP110150 23.60
85418530 | DBT50-BBOR72-302 M 340-417 B72-298 24.40
85518530 | DBT50-BBOR72-302 M 390-467 B72-348 25.20
85618530 | DBT50-BBOR72-302 M 440-517 B72-398 26.00




L
M
—lw ?
} —J o
= Y
0
= 0] #’(5) | £ ‘_g
& & ¢
[v4
[0
x
®©
B E o Y
g r c3
F X | EE
g U = L1 o
& & x
6 s &
20.01mm
+F
L1 50
. —
AR TR —
Adjust the Graduation
h K EAE B, RS
ETERR O BoﬁrBin Rarl?e M L Large Diameter Finishing Cutter Fine Boring System BB
Order No. Model it XL BB | SB[ COUTERLIAE  BIELOE | NW.
Taper Shank Adapter Plate Boring Head | Cutting Insert Holder
85108535 | DBT50-BBOR72-352 M 150-227 B72-148 24.79
85208535 | DBT50-BBOR72-352 M 200-277 B72-198 25.64
85308535 | DBT50-BBOR72-352 M 250-327 B72-248 SRTP70110 26.44
85408535 | DBT50-BBOR72-352 M 300-377 B72-298 27.24
85508535 | DBT50-BBOR72-352 M 350-427 B72-348 28.04
85608535 | DBT50-BBOR72-352 M 400-477 B72-398 BBOR72 28.84
85118535 | DBT50-BBOR72-352 M 190-267 852 395 | DBT50-H100-250 | h100-B72 B72-148 B72wW 24.90
85218535 | DBT50-BBOR72-352 M 240-317 B72-198 25.75
85318535 | DBT50-BBOR72-352 M 290-367 B72-248 SRTP110150 26.55
85418535 | DBT50-BBOR72-352 M 340-417 B72-298 27.35
85518535 | DBT50-BBOR72-352 M 390-467 B72-348 28.15
85618535 | DBT50-BBOR72-352 M 440-517 B72-398 28.95

Stann y

99









SLiEESL RS R
h100-AL120 rge Diameter Boring System

= 1E3|,7J4% Taper Shank
» FERIZIE Extension Spacer
188 Adapter
$REYGBEE Aluminium Plate
B Plate
RIL{EHEIESLTIAEE Large Diameter Body
$E1E3L7JE Cutting Insert Holder
80°#E#E3LJJEE 80° Cutting Insert Holder
45°1F % BIE#E1E3LTJEE 45° Chamfer Cutting Insert Holder
$E1E3L 2 ETIEE Reverse Cutting Insert Holder
K3LEAEHEIL /) AEE Large Diameter Body
g FEBalance Holder
¥51E3L ) Cutting Insert Holder
Z /4513 JFE Rhombus Cutting Insert Holder
¥51EILRETJEE Reverse Cutting Insert Holder
Ef4EIEILREJTIE Rhombus Reverse Cutting Insert Holder

B72-84 JBE BBOR72 f5lEARE  RIELIIEE TBiEsLR R )
B72-84 Plate BBOR72 Body Cutting Insert Holder ~ Reverse Cutting Insert Holder
£ MESICAPPCS 1 wh W
) B E
1 o) 5 | s s
+ & : : | MBHBCAP-2PC
ou & LR :
A MERR TZIEIR !
) Adjust the Graduation @ HES0CAP6PCS -
1 8~ MB
——§~-MB
B72W TZ{EEE M8'25CAP-2PCS
ﬂ_ MD B72W Balance Holder
O | 6: S gL EERE  BAmE
5 £ Cutting Insert Holder 80° Cutting Insert Holder Spring Washer
T &w —~|w 1%
3|
F o ME30CAP
EA 3 @ g { o ;%{ o i g M8
H100 3II-HE3L D17 h100-AL120 #Z8 : | MA
Taper Shank h100-AL120 Adapter L] E@ L j’“ L - Mg*16CAP
@ Me'60CAP2PCS RS B TR 45° ER IR )R
P Reverse Cutting Insert Holder 45° Chamfer Cutting Insert Holder
2 l:g - — —
/:\ Me N X) | Mo
a ny—{zﬁ—- MC 2 : ;l | - m
g —g-wmc ) @ MB+30CAP
- M8*30CAP-6PCS - -
AL120 SREERE  B72-84 JBEE BBIT72 #EiEAE RIEILER RIELENR BIERA
AL120 Aluminium Plate ~ B72-84 Plate BBIT72 Body Apron Apron Spring Washer

DBT50-H100-100 DING9871A

1ISO50-H100-100

h100H100-100

R1E - FSEP19 R1% : FSEP23 R1g : FEEP26
Specification please refer to P.19 Specification please refer to P.23 Specification please refer to P.26

102



h100-AL120 [F

= 1%8% Adapter

FRSYBEE Aluminium Plate

JBEE Plate

h100-AL120 #&E%

h100-AL120 Adapter

RiESLES R

Diameter Boring System

28.28 2828

BBOR72 fEiEAEE  FEIEALIE RIERIEDE
BBORT72 Body Cutting Insert Holder Reverse Cutting Insert Holder
H wk, wk,
3
() — mﬂw
: LJ | werecapapcs L
M8*30CAP-6PCS
y —— & MB
S B72-84
[a] B72-84 Plate —— &~ MB
B72W m@@ M8*25CAP-2PCS
B72W Balance Holder
1RSI 8 BIERLIE  BMBR
Cutting Insert Holder 80° Cutting Insert Holder ~ Spring Washer
wk
L
L] Hi L
WEEOCAP-2PCS  FEHE 1T A EREIEE
Reverse Cutting Insert Holder ~ 45° Chamfer Cutting Insert Holder
° 1 '% 1 | Mo
EE i MA
B; ®;k § :%:MB
) & M8*30CAP
. . M8*30CAP-6PCS B - .
AL120 B3UEIE  B72-84 BEE BBIT72 fEiEARE RIELER REAER BHRR
AL120 Aluminium Plate B72-84 Plate BBIT72 Body Apron Apron Spring Washer
h100-AL120 (0")
h100-AL1203%88
Adapter for BBIT and BBOR
Large Diameter Boring System
STERSE RO =]
Order No. Model N.W.
41120000 h100-AL120 5.00
41120000x9 | h100-AL120x90° 5.00
h100-AL120-90 (90°)
AL120 FRESEEE
Aluminium Plate for BBIT and BBOR Large Diameter Boring System
ISR RO ' P E
Order No. Model H |BBOR Dor| BBIT Dit MD MC N
70720398 | AL120-398 67 165 160 M16x75-4PCS M8x30-12PCS | 6.36
70720498 | AL120-498 72 215 210 M16x80-4PCS M8x30-12PCS | 8.76
70720598 | AL120-598 77 265 260 M16x85-4PCS M8x30-12PCS | 11.27
70720698 | AL120-698 82 315 310 M16x90-4PCS M8x30-12PCS | 13.77
70720798 | AL120-798 87 365 360 M16x95-4PCS M8x30-12PCS | 16.87
70720898 | AL120-898 92 415 410 M16x100-4PCS | M8x30-12PCS | 19.92
70720998 | AL120-998 97 465 460 M16x105-4PCS | M8x30-12PCS | 23.07

ST IRREHT B REE B MtEMSS], - FBFE28.28mm » TI1E/1e56.5mmiE3LEIE » [FiE3 EEE BT -
Remark : Aluminium Plate has M8 holes,distance 28.28mm and the boring range increase ©56.5mm.

B72-84i5[E

Plate for BBIT and BBOR Large Diameter Boring System
STEHRIE RS B
Order No. Model N.W.
70072084 B72-84 1.20

STEMEB LR B MIAERISL - BEE10mm » TNiENle20mmiESLEE - {FIESLEESBHIEE -
Remark : Plate has four holes,distance 10mm and the boring range increase @20mm.

103



h100-AL120

104

3,74 Taper Shank

HERIEIE Extension Spacer

1E£82 Adapter

FREYGBEE Aluminium Plate

B Plate
= K3L{EFEIE3LJIAEE Large Diameter Body
= f8#E3LJIEE Cutting Insert Holder
= 80°#E#E3L/JEE 80° Cutting Insert Holder

» 45°TF R BIFE4EIE3SLTJEE 45° Chamfer Cutting Insert Holder
= }BiE3LRIETIE Reverse Cutting Insert Holder

LIEESLJE SR

ge Diameter Boring System

TR
B72-84 jBIE Cutting Insert Holder

B72-84 Plate

80" ¥EIER IR

80° Cutting Insert Holder Spring Washer

e

M8* BOCAP

“““

M'60CAP-2PCS

BRI SIEE

Reverse Cutting Insert Holder

Mg*30CAP-6PCS

40

REAS

MS 1GCAP

& EREEIE
45° Chamfer Cutting Insert Holder

i MD
s el o M16-CAP-4PCS
O ||| [=
—— )
H100 3I-1E30,01R h100-AL120 &
Taper Shank h100-AL120 Adapter
) Ms*m(:m
——
M8*30CAP
Mg'30CAP-6PCS
AL120 SBSHERE  B72-84 B BBIT72 fiEA%E F}L@f}i REARR BITBE
AL120 Aluminium Plate B72-84 Plate BBIT72 Body Apron Apron  Spring Washer
BBIT72 A3 {ZHEEI L4 h2
Body for Large Diameter Adjustable Twin Cutter Roughing
STERE R g = MA MB R F P E
Order No. Model Mobile Bolt Bolt Wrench N.W.
70007372 |BBIT72 20 M8x16 M8x30 04086 1.44
BBIT72 $E1E3], 7 E
Cutting Insert Holder for BBIT Large Diameter Adjustable Twin Cutter Roughing
STERSE ]R8 W o VARNY L w = B E
Order No. Model Insert Bolt Wrench N.W.
30809013A |SACC90130 795 0.17
30809013B |SBCC90130 ’ 0.18
30813017A |SACC130170 226 99.5 CCMT1204..| TS5-MS 25 0.23
30813017B |SBCC130170 ) 0.24
BBIT72 80°#8#E3L7JEE
80° Cutting Insert Holder for BBIT Adjustable Twin Cutter Roughing
TSR R g w o VARNY 1% R =F P E
Order No. Model Insert Bolt Wrench N.W.
30809013M |EMSC90130 80.5 0.17
30813017M |EMSC130170 231 100.5 SCMT1204.. | TS5-M5 25 0.23
BBIT72 45°1E % {2 EBHE3L I EE
45° Chamfer Cutting Insert Holder for BBIT Adjustable Single Cutter Roughing
STERSE ]R8 W o ARy 0% R =F P B
Order No. Model Insert Bolt Wrench N.W.
30809013W |IWSC90130 80.5 0.16
30813017W |IWSC130170 231 100.5 SCMT1204.. | TS5-MS 25 0.22
BBIT72 1BEILRIETIEE
Reverse Cutting Insert Holder for BBIT Large Diameter Adjustable Single Cutter Roughing
TSR =18 aw wk . ITK | &% | RS | 58
Order No. Model Insert Bolt Wrench N.W.
30809013K |RKCC90130 22 22 79.5 0.18
30813017K |RKCC130170 44 22 99.5 COMT1204.. | TS5-M5 25 0.25




LIEHESL SRR
h100-AL120 ge Diameter Boring System
3,74 Taper Shank
HERIEIE Extension Spacer
1E£82 Adapter

FREYGBEE Aluminium Plate
= K3L{E¥E1ESLT)AEE Large Diameter Body
» & EEBalance Holder
= $51E3LJJEE Cutting Insert Holder
» EH4E1E3LJJEE Rhombus Cutting Insert Holder
» ¥5IE3LRIETIEE Reverse Cutting Insert Holder

N VE: f::] WE VE: 8
u Ef451ESLRIETIE Rhombus Reverse Cutting Insert Holder Bg%—g;lgﬁg BBS&%&E? % Cuttﬁﬁ?}e?,%der Revef?g%ﬁ%%gﬁomer
H '60CAP-2PCS Lo
i = MC MQ_L
""" & MC MB’WGCAP-ZPCS_l
e MC
@ MB'30CAP-6PCS
40
MD
; 8 @ @g ||<z o M16-CAP4PCS
—— )
H100 SR3I-#E3,01R h100-AL120 %88
Taper Shank h100-AL120 Adapter
= 10
o)
~~~~~ &
“““ & = MB
“\:::: & VB
MB*30CAP-
A N s e VB'25CAP-2PCS
AL120 SBSHERE  B72-84 JBIE B72W &
AL120 Aluminium Plate B72-84 Plate B72W Balance Holder

BBOR72 A3 MEEESL A S+ B72W &k

Body and Balance Holder for Large Diameter Finishing Cutter Fine Boring System

SIE1RSRE ]R8 BaE MA MA R F P E
Order No. Model Mobile Bolt Bolt Wrench N.W.
70007572 |BBOR72 M8x16 1.65
70007472 |B72W 285 M8x25 0506 1.59
BBOR72 {513 JJEE
Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
TEEE | M1 w . il % s | 3=
Order No. Model Insert Bolt Wrench N.W.
50637011 |SRTP70110 20 66 0.10
50637115 |SRTP110150 20 106 | [PCGHT103.L] SB-3TR-M3 T 0.21
BBOR72 Ef/#51E31, /I EE
Rhombus Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
UEmE | ® 8 W . 7R % W | FE
Order No. Model Insert Bolt Wrench N.W.
50637011CC |SRCC70110 20 67 0.10
50637115CC [SRCC110150 20 107 CCGTO9T3.L|  TS4-M4 15 0.20
BBOR72 #51E 3R iE TR
Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
TEER | W B aw Wk . 7R B | RS | BB
Order No. Model Insert Bolt Wrench N.W.
50637011K |FKTP70110 16 15 66 0.10
50637115K |FKTP110150 25 15 106 TPGH1103.R| SB-3TR-M3 8 0.21
BBOR72 ZfZi51E3LRIETIE
Rhombus Reverse Cutting Insert Holder for BBOR Large Diameter Finishing Cutter Fine Boring System
EmE | R 18 aw wk . 7R i wF | B E
Order No. Model Insert Bolt Wrench N.W.
50637011KC |[FKCC70110 16 15 67 0.10
50637115KC |[FKCC110150 28 15 107 CCGTO9TS. R TS4-M4 15 0.20

105



106

RILEEIHEIEILIESR#--AB type

Large Diameter Adjustable Twin Cutter Roughing and Semi-Finishing Boring System
JEILTOMM ~ 1288 - SREUBEE - KILIEEIEILOAES ~ 1aiESL IR

Taper Shank, Adapter, Aluminium Plate, Large Diameter
Body and Cutting Insert Holder

BBIT72 fBIELRE SACC90130 1E{E3, i
BBIT72 Body SACC90130 Cutting Insert Holder
DM
103
20
£ £
MD e ?
= g S
§ M16-CAP-4PCS E 3_:(% § 2* §
= a + +
par =] =]
) T T
5 5
£ £
o o
E
8 | | 6
! {
LH HL%
— 0304
AL120 32852 B72-84 B SACCY0130 1B1E3, D
AL120 Aluminium Plate B72-84 Plate SACC90130 Cutting Insert Holder
e RILERRIESLRAAES
Hi=t =5 R OAE B(;ErEin Rar?e S Large Diameter Adjustable Twin Cutter Boring System BB
Order No. Model DM oM | DM 183,047 $BEUBRE BEE | A3EENAE | RSO | NW.
Taper Shank | Aluminium Plate Plate Boring Head Cutting Insert Holder
93310000AB | AL-BBIT72 AB  410-470 150 AL120-398 12.00
93410000AB | AL-BBIT72 AB 510-570 155 AL120-498 14.40
93510000AB | AL-BBIT72 AB 610-670 160 AL120-598 16.91
93610000AB | AL-BBIT72AB  710-770 165 AL120-698 SACC90130 | 4q 44
SBCC90130
93710000AB | AL-BBIT72 AB 810-870 170 DBng—éﬂOO AL120-798 22.51
93810000AB | AL-BBIT72 AB 910-970 175 ('+) AL120-898 25.56
93910000AB | AL-BBIT72 AB  1010-1070 180 h100-AL120 AL120-998 B79-84 BBIT72 28.72
93320000AB | AL-BBIT72 AB  450-510 150 (P103) AL120-398 12.12
93420000AB | AL-BBIT72 AB  550-610 155 BT50-AL120 AL120-498 14.52
93520000AB | AL-BBIT72 AB  650-710 160 (P108) AL120-598 17.03
93620000AB | AL-BBIT72AB  750-810 165 AL120-698 aRaciootro | 19.53
93720000AB | AL-BBIT72 AB  850-910 170 AL120-798 22.63
93820000AB | AL-BBIT72 AB  950-1010 175 AL120-898 25.68
93920000AB | AL-BBIT72 AB  1050-1110 180 AL120-998 28.84




AL-BBOR72

YESLOAR ~ 1288 - IRBUEEE « KILIENEIESLDARE  SHEIEE - 15HE3L e
Taper Shank, Adapter, Aluminium Plate, Large Diameter Body,

Balance Holder and Cutting Insert Holder

RILEWEIREIESLJE SR

Large Diameter Finishing Cutter Fine Boring System

BBOR72 f51E4%E SRTP70110 ¥&E3L )
BBOR72 Body SRTP70110 Cutting Insert Holder
DM
103
20

= Yo, |

1 ||1@e ® N
g
[=)
MD §
g M16-CAP-4PCS = S
& £ =)
o (=) =
Tt @w =
I>I<
£
[=)

\ =
{
AL120 SEBEBIE  B72-84 B B72W T -
AL120 Aluminium Plate  B72-84 Plate B72W Balance Holder
&% D RILEFERBILRIRIES
Hi=t 5 g Boﬁn Ran o FEE Large Diameter Finishing Cutter Fine Boring System BB
Order No. Model DM oDMes | DM 1&3, 01 SRBUBEE BEE | ASLCEENAE | SO | NW.
Taper Shank | Aluminium Plate Plate Boring Head Cutting Insert Holder

95310000 AL-BBOR72 M  400-480 150 AL120-398 12.36
95410000 AL-BBOR72 M  500-580 155 AL120-498 14.76
95510000 AL-BBOR72 M  600-680 160 AL120-598 17.27
95610000 AL-BBOR72 M  700-780 165 AL120-698 SRTP70110 19.77
95710000 AL-BBOR72 M  800-880 170 DBng-;mO AL120-798 22.87
95810000 AL-BBOR72 M  900-980 175 ( '+ ) AL120-898 25.92
95910000 AL-BBOR72 M  1000-1080 180 h100-AL120 AL120-998 B72-84 BBOR72 29.08
95320000 AL-BBOR72 M  440-520 150 (P103) AL120-398 B72wW 12.47
95420000 AL-BBOR72 M  540-620 155 BT50-AL120 AL120-498 14.87
95520000 AL-BBOR72 M  640-720 160 (P.108) AL120-598 17.38
95620000 AL-BBOR72 M  740-820 165 AL120-698 SRTP110150 19.88
95720000 AL-BBOR72 M  840-920 170 AL120-798 22.98
95820000 AL-BBOR72 M  940-1020 175 AL120-898 26.08
95920000 AL-BBOR72 M  1040-1120 180 AL120-998 29.19

107



h100-AL120

108

LJ#%

er Shank for Boring System

;//»‘//4 M16*430

7 %
(o] &/////1///) (€]

&
gﬁ BTSMP 275
o

260"

SIER E=c}
Order No. Model N.W.
41201507 BT50-AL120-75 7.00
72 2,
37
% M16*43,,

H=t RO e}
Order No. Model N.W.
41202507 | DIN69871A SK50-AL120-72 7.10

72 25

Sy
DIN208D (M24)
IS(MH%ZNZ
@60™

PCD 101.6

M16*43,

e
R

7

22

7
% A

SIERSE
Order No.

wROg
Model

P B
N.W.

41200507 M
41200507 |

DIN2080 NT50-AL120-72 M24
DIN2080 NT50-AL120-72 1"W8

7.15
7.15




